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Note : Iirst 13 minutes are allotted for the
candidates to read the question
paper.
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Instructions :
1)) There are in all nine questions in
this question paper.
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139}
111)

v)
v)

vi)

)

@)

)
ons are compulsory.

bheginning of each
guesuon, the number of parts
to be attempted arc clearly
mentioned. '
Marks allotted to the questions
are indicated against them.
Start  solving from the first
question and proceed to solve till
the last one. ) )
Do not waste your time over a |
question you cannot solve.

All guest
In the

frafefaa @t 1avel &1 &ef BT

um o & f: R - R, flx)=x*
g ufewieA &, ®E IW W W9EA
m'rf?m_:

iv) f A @ The g IR I A

IVRF B | 1
tan"(ﬁ)—cot"(—ﬁ)?ﬂqﬁ%
i) = ii) -%

i) O iv) 2V3. 1

Mﬁqw y=x+13l'i7y2=4x3ﬂ
o @ g 2

) (1,2) i) (2,1)

m) (1,-2) iv) (-1,2). 1
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2 A W B UAl 3 92Am € &
P(A)+ P(B)- P(A ¥R B)=P(A),
A4

) PB/A)=1
1) P(A/B)=1
i)  P(B/A)=0
iv) P(A/B)=0. 1
faeifataa 9 | garee jcos2xdx
FI U HAE
2. 1 .
1) §+Zsm2x+c
1) 2cosxsinx+l2t-+c
X sin2x
111) 2 5 +cC
iv) cos2x+c. 1

Attempt all the parts :

a)

Suppose that a function f: R - IR
defined by f(x)= x*, select correct
option :

i)  fis one-one onto

i) fis many-one onto

iii) fis one-one but not onto

iv)  fis neither one-one nor onto.
1
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b)

4

Sl '

Value of tan”! (ﬁ)"t‘()t = \/5) S
1) R 1) -

2
m) 0 iv) 2J3. 1

y=x+1 is a tangent line at which

point on the curve y?‘ =4x ?
) (1,2) i) (2,1)

i) (1,-2) ) (-1,2). ]
d) If Aand B be two events such that
P(A)+ P(B)-P(A and B) = P(A)
then
)  P(BJ/A)=1
iy P(A/B)=1
i) P(B/A)=0
iv) P(A/B)=0. 1
e) Correct value of the integrationd
[cos? xdx in the following is
. ¥ AL
1) >+ 4sm2x+c
ii)  2cosxsinx +%+c
X _sin2x
ni) 3 e
V) cos2x+c.
Frfeifiaa it wust =1 ger 3o -
F) °°‘“a“'l(a)+cot“(a)] 1 g

Hife | I

4
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S i B G _ x4
At AN HU fa e [(x)-—2— L x=0

YL HAA R 1
L] A A A

M q =1+ 3j-5k ad

- A A A

b=5i-;-3k & d

(Z+3)(a b) @ Ffe 1
5 2

zTf‘ZX+Y=[O 9]?!!“

x-v:[g _?]t.a‘txaur y®
T | HI 1
swet wiww Y o16x @ g

dx l+y2.
FIAU | 1

Attempt all the parts :

a)

b)

Find the value of

cot| tan"!(a) + cot"(a)]. 1
Check that the function f(x)= 522-
1s conuinuous at x = 0. 1

- A A A
Ifa=i+3j-5k and
—

A A A
b=5Si- j-3k, then find

(a+b).(a-b). 1

324(XB) 0
(o 2
) X -+7) lo 0} aned
A ]
X« 1Y 3 1 then hind the
' ) -1’
values of X and Y. 1
¢) Solve  the differential  equaiion
(11! ) | 4 \') . 1

dy 14
ffelEs gt @vel &l mmn
&) d@® x=acos 0, y=asin39 #
“:% w AfverEm & gauEer § 9
HITAU | 2
d) 4 y=sin"! x, d fog e &F
(1~x?-)d—2¥ dy

dx? dX 2

2 1
AR [?; 2l]x[_} 2 }] & oA
A =itAw ) 2

7w Ramr e W= R R

a*b=2lyvqper grr R
81 far fr g e ;3
hﬁm’m%l
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Attempt all the parts

a) Find the slope of the normal of the
curve x=acos” 0, Yy = asin’0 at
0= : . 2
b) M.y sin”! x , then prove that
(1—.\-2)919,-”32. 2
dx” dx
¢) Find the wvalue of the matrix
[% Z‘Jx[_; 0 1. .
-1 1
d) A binary operation * is defined on
a sct R as a‘b=a+bVa,beR.
Show that this binary operation is
commutative but not associative. 2
feifeifiga @it WUgl il & I :
#) A y=x X g @ %xy-?ma ST |
2
@) fagai (2,-5, 1) (1,4, -6)®

fram arel @ | 39 fag &1 R
maﬁﬁqvﬁw%@ﬁz 3 &
arqard 3§ 3 fofora & &1 2

) ate 1an
o1 oy fog @AT x4y 4 2= TYZ /
3. Attempt all the parts |
’ KeOnx N " d _‘;’_ﬂ 7
a) Wiy =2 then fin =775
b) Find the coordinate of that poh r
which internally intersects the lit.e
joining the points (2, -5, 1) al.«"i
(1.4, -6)inthe ratio 2 : 3. 2
¢ I PA =L, P ’/ and
PIAVUE)-= ‘)) , are the event, Aand
I3 independent 2 2
d) If tan ' x4 tan™! Y+ tan~ ! z = n,
then prove that x4 y+z=xyz. 2
5. Tefatga 1 @ fasd ofa mug @t @
E-Tf?ﬂ” :
*) y=(cosx)"™* 4 x* @® x ® uﬁg
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M)

L LN,
! MEH | ,l(", ; lh

e IP(A) 2

i 2 g1 ol w0 st A 4t
I'(/\\_AI;) ) ok

l)’ J_'l'v‘.'.‘ t‘. /

KX
x\;l;|||1”9'-’l" Y AR |

HIFAT i

i 1
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(2 =2 =]
#1728 A=|{-1 3 4|®HUH
1 -2 -3

i) tan”'(2x)+tan”'(3x) =

A FAY | 2

i) TE f(x)=x>-4x-3,Vxe[l,4],
a1 e yag g St 3

g1 WAl y? =4ax 1 x? =4ay 4
fa? &1 &1 SRS T FITAT | 5

gfg 31 9T U 919 Geh A1 @ §, df FH
¥ FH UF 6 A & Wiasar I
ifTd | 5

frr sral & a2 = 8x+ 7y W
fyehay T Fd ST

x$20, ys40, x+y<45,
3x+y<66, x20, y20. S

324(XB)

)

d)

c)

L ot the followtng :

SN X
- ([ COS ‘
[):ferent it ’¢-\“‘5\) X

W 11 :(.\-‘“": I() X

Wieeser the IMAININ

]

R

3 4 1 in the form of
3

W oof 1 symmetric matrix and a

vimmetric matrnx.

tan l._’x')+lun°'(3x)=—;-. 2

4
<

I fix)=x?-4x-3,¥Vxe|l,8]
then establish mean val;xc
theorem. -3

Find the area of the iegion

bounded by two  parabolas

y2 = 4ax and x° = 4ay . 5

If two dice are thrown tojpcthef,

then find the probability of uctting
at least one 6. 5

Find the maximum value of
Z=8x+7y under the folowing
constraintsy -

X320, y<40, x+y <45,
f3.x4y5o,c-,’ 20, y20.
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‘ fi!.t‘.ul'?lj.’ DRI ;'5‘.""' tﬂ'a HTT ST s

&ifAu

&)

fqagrze {4 @i

(y+2z) xy zx
Xy (x+z)2 yz
Xz yz  (x+y)’
=2xyz(x+y+z)3.

S

w) fagait —2i+6)-6k,

m)

)

-3i+10j-9k #X -5i-6j-6k

T 1 a1t A 1 YT T
HIfT | 5
TH U/ H 6 IR IV AT I AR
“g@ W |H W WA g U
FEHA & at (i) AT 5 FhAA 79T
(i) HMUFAT 5 WHEEIE H WHaHT
A T | 5

2 ’
SeC_2X __4x & WA §A
(cot x — tan x)

FfT | 5

324(XB)

1)
L

[ cos0 sln“J g fe

z) e A = { _qint costb

g in cosnO sinnB| ..
FAL AT =1 _ginn® cosn®

ne N .
w)  HaEmd G

(tan”'y - x)dy = (1 + yz’dx w1 &

F1E AT S

Attempt any five parts of the following : °
a) Show that the determinant

([ (y+2 ) Xy zx
oy (x+z) yz
| xz yz (x+ y)2
= 2xyz(x +y+z)3.
by Find the equation of a plan

passing  through the point

A A A A A A

~21+6)-6k, -31+10 -9k an
A A A
-21-6j-6k.

) A die s thrown six times. |l
4 success  of “geuting | vve
aumber  on the  die”, | the
find the probability of geutis

()) at least § successes, (i) at mof
2 SUCCesses.,

F19582
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f” Find the value of
I sec” 2X -dx. 5
(cotx = tanx)”

[ cosO sin0

(A= ) ‘n prove
c) It A [— sint cos()]' then p

n_| cosn0 smnno
that 4 -[—sinn() cosn0|’

0 #
V.

n

where ne |
) Find the solution of the
differential equation

(tan™'y - x)dy = (1 + y*)dx. 5
e 1 @ fael @@ @ & e Ao
%) frefeten s e

3x-2y+2z2=8,2x+y—-2z=13a"

4x -3y +2z =4 F 3 AN F &

I | 8
) i) flx)=3x"+4x® -12x? +12

FRT Wed G & Iadn awl

fram o T S 5
i) AR x¥=e* ¥, A fag A fe

dy _ logx

dx = 3

(1 +logx)®

324(XB) g
Atltempl any one part of the fO“OWlng -
Qoive the foilowing system of

L‘(‘;‘\‘LA

2x+y-2z=1 and 4x-3y+2z=4
by matrix method. 8
b) i) Find maximum and minimum |
values of the function
flx)=3x% +4x® -12x*+12. 5
i) If x¥=e*"Y, then prove that
dy log x 3
= 2 > '
dx (1+logx)
g e © @ R UE @0e # e RV ¢
n/2 |
7 T dx n
%) fag&mar | —X—==2, :
= g l+Jtanx 4 8‘

w) fag wig

I xdx - 7'(2
5 a’cos? x+b’sin? x 2ab .
&.  Auttempt any one part of the following :
n/2
a) Prove that I dx

n
5 1+VJtanx 4~

b)  Prove that
n
xdx 1:2

2 cos2 . ;
0 @“cos® x+b%sin? x 2ab..

F19582
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e Tw 3T 5 B T
'f;‘fe_"a— & 37 = - by i) Soive S.:_-L(+ yranx = y“secx.

. . (X
P = a

16y

- A A A A A A i) Show that for any two vectors
r =(3t+ '—:-°*'2i¢3.4‘6k » —»

" R J ) a and b it is always true
e W
e -+ - -

that la+ b|<|a|+|b]. 4
e d ,? A ~ A /‘.' A -
r=(1+2j-4k)+2(2i-3j+6k)=®
% ¥ Z=E= 74 7 FA 8 324(XB)-1,25,000
F) 1) o~ a-’.-\
—é-%*ytanx=yzsccx. 4

2 P . - =P - o
l:) «3i3V = R G-s oa =47 b %
- oy S e d -3
T ®F |a+b|<S|a|+|b]|
Gl A 4
! Attempt any one part of the following :

a) Find the shortest distance
between the lines

. A A A A A A

r=(3i+3)-5k)+n(21+3j+6k)

and

- A A A A A A

r=(i1+2j-4k)+2(2i-3j+6k). F19582
8



